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p. 567: 5-25 odd, 36

5. Letx=2tan8, where—f<8<Z. Then dx=2sec’ 846 and

w./xz +4 = w,,"r-'ltanl2 6+4 = -\/rfh[t;sm3 g+1)= '\j‘iS’E‘C: 6= 2|se-:: H| = 2secd for the relevant values of &.
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7. Letx=3sin#, where—m/2<8<x/2. Then dx=3cosfdé and 3
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). Letu=36—x",s0du=-2xdx. Whenx=0, u=36; whenx=3, #=27. Thus,
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Another method: Let x=6sin8, sodx =6c0s8d0,x=0= @=0,andx=3 = d==+. Then

3 ~xl6 . /6 - =
e — 6sin@ 6c0sBd6 = 6sing

JoAf36-x° Jo \36(1—sin’6) o Gcosd
= 6[—(:05 5’]0 6( ) 6-33

11. Letr =4sec@, where0<0<Z or r <0 <3E. Then dt =4secftan @d@ and
J =16 =+f16sec? 816 =+/16tan* @ = 4tan & for the
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13. Let x==sin@, sodx=3cos@dd,x=0= &=0,and
x=+= &=7%. Thus, 2
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15. Letf—ZtanH so df =2sec” 8d6, r-[]:*»é' 0,andz=2= @=2Z. Thus,
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17. Let x=tan @, sodx=sec” 8d8,x=0=6=0,andx=1= 6 =%. Thus,
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19. Let x=1seca, sc}aﬁr—lsecﬂtanﬁdﬂ, x=ﬁx"3 = d=~%,andx=5= 6=1%. Then
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21. Letax = bsec8, so (ax)’ =b"sec’ 8 =
(ax)" =b" =b"sec” 8—b" =h*(sec” 8—1)=5" tan" 6.
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23. u=1+x", sodu=2xdx. Then
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25. Let x=tan@, where —£ <8 <Z. Thendx=sec” 848 and
Nx' +1=sech, andx=0=6=0,x=1= 6=, so0
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36. The average value of f(x)=+/x"—1/x on the interval[1,7] is
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